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Did Cavendish measure the so-called Newto-
nian so-called gravitational so-called constant G? No. He didn’t.

In the 19th century, two centuries after New-
ton’s definition of his "universal" force of attraction, there was still no exper-
imental verification of it.

Physicists desperately needed an experimental
verification of this sanctified force so they defined the Cavendish experiment
posthumously in the 19th century as the experiment that measured G for the
first time.

But first they needed to define G and this was
done by C.V. Boys.

G was defined in 1894, Henry Cavendish con-
ducted his experiment in 1798. G was defined 96 years after Cavendish
experiment. 1

The Newtonian Constant will be known if we know the force of
attraction between two bodies which we can completely measure
and weigh. Employing the C.G.S system of measurement, the
Newtonian Constant is equal to the force of attraction in dynes

1Boys, C. Vernon (1894). "On the Newtonian constant of gravitation". Nature. 50
(1292): 330–334.
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between two balls weighing a gram each, with their centers one
centimeter apart.

Of course it may be referred to pounds and inches or tons and
yards, but as soon as all the quantities but G in Newton’s equation

Force = G
Mass × Mass

Distance2

are known, no matter in what units the quantities are measured,
G is known. The conversion of its numerical value from one sys-
tem of measurement to another is of course a mere matter of arith-
metic.

[. . . ]

All these observers [using Cavendish type balances] actually de-
termined the attraction between masses which could be weighed
and measured, and thus found with different degrees of accuracy
the value of G.

Boys defines G as the unit of force and gives it
the unit of dyne. Dyne is the unit of force.

So, according to Boys, G appears to be a mea-
surable quantity. He defines it as "the force of attraction in dynes between
two balls weighing a gram each, with their centers one centimer apart" but
the numerical value of this force is not known. There is no such force in
nature.

Then he writes the formula of force with G. All
terms are known, except Force and G.

G is defined as a scaling factor.
So it’s not true that G is a unit like meter. Dyne

is a unit like meter. G is a chimera.
G is a scaling factor for force.
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This is strange because in the Newtonian equa-
tion that Boys writes

Force = G
Mass × Mass

Distance2

if G has the units of dynes, this equation does
not work, the units of this equation will not work. The units will be

dyne = dyne
gram2

cm2

or,

g · cm
s2

=
g · cm
s2

gram2

cm2

And what are the units of G?

G =
1g · cm

s2
·
(
cm3

g2

)
The last part, inside the brackets is added by

physicists, purely ad hoc, as deus Ex Machina, to make units of F = Mm/r2

to work.
What kind of physical quantity can have units

of,

G =
1g · cm

s2
·
(
cm2

g2

)
???
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The units of G simplifies to,

G =
cm3

s2
· 1
g

This looks suspiciously like Kepler’s Rule with
the addition of 1/g.

But physicists, Newton’s blind followers, like
to hide this fact and write this units of G with the unit of force they named
after the prophet of mechanics, their god, Newton, N.

It is defined, or rather its units are defined but
its numerical value can be computed with an experiment. There are prob-
lems with the Newtonian force expression itself. It is a sacred definition and
anyone who questions it will be dubbed a crackpot by physicists.

[I used to say that G is a defined unit like meter
and there is nothing to measure experimentally but it seems that the status
of G is more complicated.]

Physicists needed to say that Newton’s force of
attraction was universal and they made G the symbol of that force.

[You cannot measure a constant of proportion-
ality, you defined it.]

In this sense G is a scaling factor and unit con-
verter. It fixes the unit of F .

What does Cavendish experiment measure? Cavendish
measured the deflection of the arm due to the supposed attraction of the New-
tonian force.

Did Cavendish measure G? No. This is a his-
torical certainty. If so, why do physicists insists that Cavendish measured
G?

This is what I’m trying to understand.
On Wikipedia’s Cavendish Experiment page, they
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compute G from the constants of the pendulum.

G =
2π2Lr2θ

MN2

If this is true, G must be independent of the
constants of the pendulum. So if I change L or W or the torsion wire the
value of G will not change, I will still get the correct value of G.

And this is what happens because Boys, Baily,
Reich and many others used various types of pendulums and they all got the
same value for G and density D.

But this statement,

G =
2π2Lr2θ

MN2

is missing an important term, the term m which
represents the small mass. This statement is absurd because G is the attrac-
tion between the big weights M and the small weights m. But m is not in-
cluded in this equation which states the attraction between M and m. There
is the distance between M and m represented by r, but m is not here. So r

cannot be the distance between M and m because m is not included in this
equation.

In physics, when a term is cancelled from an
equation its effect stays in the equation. This is magic. Phyisics equations
are magical. Scholastic magic.

This is absurd.
Cavendish experiment article in Wikipedia starts

with

5



G = g
R2

M

Then makes the substitution Mass = Density×
Volume and obtains

G =
3g

4πRD

Here they use Cavendish’s values for density D

and obtain the "correct" value for G.
R is known, g is known, [we have to express g,

the acceleration of falling stone as the fall of a earth skimming satellite] but
D is not known. That is, I don’t know if there is an independent calculation
of the earth’s density.

How do they compute the modern value of Earth’s
density? They compute it from G. How do they compute G? They compute
G from earth’s density! Very rigorous.

Also, this expression ties G to g. But Boys said,

Let me explain now that this G, the gravitation constant, or as I
prefer to call it, for the sake of distinction, The Newtonian Con-
stant of Gravitation, has nothing to do with that other quantity
generally written g, which represents the attraction at the earth’s
surface.

[This is hidden assumption. How do we know
free fall is attraction? There can be acceleration without attraction.]

So, g must be a special case of G, since g too
represents the same Newtonian attraction.

g = Newtonian attraction on the surface of the earth
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G = Newtonian attraction between unit masses at unit distances
But they have different units. This is a total

mess. A total scholastic mess that physicists created to save Newton’s sa-
cred authority. Physicists are no different than medieval Peripatetics who
sanctified Aristotle. Physicists sanctified Newton.

This mess, eventually works because physicists
developed algebraic magic manipulations to eliminate unwanted, dummy terms
that they had written to save the Newtonian doctrine. Physicists assume an
absurdity called "universal force of gravity" and try to fit nature to this doc-
trine.

If G is not related to g, what do we make of this
expression:

G = g
R2

M

For G to stay constant g/R2 needs to stay con-
stant.

There is a formula to compute g at various al-
titudes.

How did they obtain

G = g
R2

M

It’s not hard to guess.

mg =
GmM

R2

But this is Kepler’s Rule written with Newto-
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nian jargon.
There are problems with this expression.
It is really stupid to write the same term on both

sides of an equation. In this equation there is no m, because a term written on
both sides has no effect on the equation. I wonder if physicists, the supreme
mathematicians, know this simple aritmetical fact taught to them in nursery
school? Maybe they forgot.

So this expression really is

g =
GM

R2

And this is an absurd expression. R is the dis-
tance between M and m but m is not included in the equation.

g

G
=

M

R2

So, M/R2 is constant so g/G must be constant
too.

But g varies with altitude, so,

g

G
=

M

(R + A)2

A = Altitude
Mass stays constant. So in this case (R + A)2

changes as squared but g changes linearly. I don’t think this value will stay
constant. I can calculate. I don’t think this proportionality will be valid.

[Equation is a lame proportionality]
But where this G comes from?
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G is introduced in the guise of a "proportional-
ity constant".

For G to be a proportionality constant, the ex-
pression

F =
Mm

D2

must be a proportionality and must be written
as

F ∝ Mm

D2

We know that this is not a proportionality, it
already includes a constant term, Mm. We all know that no orbit can be
computed with

F ∝ Mm

D2

because F is a placeholder and must be replaced
with the other part of Kepler’s Rule.

And we all know that m is a dummy term, it’s
here solely to save Newton’s sacred authority, to let physicists pray to New-
ton by saying that "Force is the attraction between M and m" and when they
finish their prayer they discard m in the next step.

So, is

F ∝ Mm

D2
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a proportionality?
No. A proportionality is an equality of ratios.

While the terms of the proportionality vary, the proportionality stays con-
stant. This is the definition of proportionality. A proportionality cannot in-
clude a dummy term like F which does not change as the other terms repre-
senting real quantities change according to the rule of the proportionality.

F

1
=

Mm

D2

And what does M × m mean. Physics deals
with physically possible processes. Is multiplying an apple with another apple
a physically meaningful thing to do? No. This is absurd.

Physicists must write both M and m to state
that there is the Newtonian attraction between M and m. The absurdity is
temporary because m is eliminated anyway. Historically, in earlier times,
physicists wrote

F =
M +m

D2

which makes a little more sense but then it is
more difficult to eliminate m algebraically. It is easier to get rid of m if it is
a multiplication.

So, in

F

1
=

Mm

D2

M and m are constants. As D varies, and if
this is a proportionality, F must also vary according to the rule of the pro-
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portionality. And this is what Newton claimed and Newton’s disciples have
been claiming ever since.

But this is not true.
Because this expression is a lame proportional-

ity, it is missing one leg, the true proportionality is the Kepler’s Rule,

R3 = T 2

Yes, if you want, you can write Kepler’s Rule,
as Newton did, as

1

R2
=

R

T 2

but you cannot make this into an equation where
Force F varies with 1/R2.

Maybe physicists are blinded by Newton’s sa-
cred authority and does not see the other R on the right hand side of the
proportionality, but it is there. How can 1/R2 on the left hand side vary as
1/R2 while there is another R on the right hand side!!!

In Kepler’s Rule there are three R’s, to save
Newton’s sacred authority, two of them conspire to change, while one of
them stays constant and does not change. All the rules of mathematics are
broken but Newton’s authority is saved. This is scholasticism.

Mathematical scoundrel Sir Isaac, hides the other
R by labeling the ratio R/T 2 in Kepler’s Rule, F , that is F = R/T 2.

It’s time to call Newton’s bluff.
It’s time to expose Newton’s fairy tales.
G entered physics as Deus ex Machina, by Boys’

hocus pocus.
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Physicists live and practice physics in a state
of suspension of disbelief. They believe in the Newtonian force which is
a supernatural cause that violates all known laws of physics by traveling
huge distances without time passing. But, nothing happens in our world
without time passing. In Newton’s System of the World, God gave Newton
the privilege to define a force that disregards time and can move without time
passing.

Physics is scholasticism incarnate.
Physicists especially the cosmologists are char-

latans. If they are not charlatans we must call them morons. Take your pick.
Draft 3: 17 September 2022
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